d \A

l\re/&
]/]/6

J
OtQJ /\Q:} PW
/]_2 ' : 109 = 30
~ g / o
2| -
— 4
+ |
i — reste
- 4Lr U S
4 zi} - \m%:iew% d\\}
D‘\V'\d@/\d@

\ ) ’te

-
o - 9. d -+
1)

2)




o, CJJ\OL\MAM

T)iU\S\oM

E'F—P%JLUD\AJ P dwisions  ev c%oume Ao

D = !

2 2
Ly — 3w 4+ I0x -3

— 4y — 9 X
— Qx" +4x -3
= 3x +Y4
este. LHK *?’

L) e{é zf_«)ce/ % OV MWLWJE) 2@

C =9t 4+ 9x =3

daw IR [B/]
’PZM’ Q><2—~/}
)X 1
X 2 X (‘lxz’ﬂ) = 9x3—2><
— 4 —4 {2x"1) = =9+
235 =24+
+ 4 X
Uyl =3 +1x —J
5/&0’{%

L n
by — 3y +9x -3 =

(zx-{ﬂle~%J + 4y —3

D —

(1 x—=4) - d_

+ Y4 ¥ —



Thioeme

Sod D ok (A & RD@ Y &Xuﬁéa 016% r GRB&
E@QS qUQ

q) D = ﬂ-OL +
2 ) o{ig%e%r) < 6@@%@, (4)

—

Lty 1.2,/




c) A(xz)=z*-3z°+z—5 B(z)=2*-3
X7~ 3x ty-5| x'-3
C '
A — 2y ¥
R N i 1 G
—23x° + 99X —3 X
IxE - 9% -5
2 + 3
5 X — 9
XA

A

|




3
X oo L. 4>(Lf + 1
X%—Xq _'_)(é
X7 — -
X+t — y® + X
_ XS 4 X
~ x5 eyt X
X3
g 2
X —X — X
ga
X" — x +
Xt — v 44

B(z)=z—z+1

2
X — X/

+ X

—+ X

ﬂ)\ﬂda A

4



